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*Note- Before attempting the question and answers you must check the links given below which will help 
you understand the chapter thoroughly.
You can download the worksheets or if you do not have facility to get printout then you can ask your 
ward to copy the worksheet in a simple notebook and must do question answers in the notebook.
Link-https://youtu.be/Cc2B6aSEurk

NOTES

The symbol for a resistor is a device 
which provides opposition the flow of 
electric current in a circuit.

Resistors

What is the relationship between 

current and voltage in a resistor?

Current is measured using an ammeter.

Voltage is measured using a voltmeter.

Investigation: relationship between

current and voltage in a resistor.



Relationship between current and 

voltage in a resistor

I / Amps

p.d. / 
Volts

Straight line through 
the origin tells us that
current is

directly proportional to 
voltage

The ratio V/I is constant 
and is equal to resistance 
in the circuit.

Relationship between current and 

voltage in a resistor
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Ohm’s Law
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Worksheet
1. Let the resistance of an electrical component remain constant while the potential difference across 

the two ends of this component decreases to half of its former value. What change will occur in 
the current flowing through it?

2. Two wires of equal length, one of copper and the other of manganin (an alloy) have the same 
thickness. Which one can be used for
(i) Electrical transmission lines
(ii) Electrical heating devices? Why?

3. A current of 5 A is flowing through a resistor of 15 Ω. Calculate the potential difference between 
the ends of the resistor.

4. A wire carries a current of 0.1 A and has a resistance of 120 milliohm per metre. What is the 
potential difference across 1 m of this wire?  

5. An electric iron draws a current of 4 A from 220 V supply line. When voltage of the supply is 
changed, then iron draws a current of 2 A, what is the new voltage applied?

6. A potential difference of 40 V is applied across a resistance of 8 Ω for a period of 2 minutes
(i) What current is drawn?
(ii) Calculate the charge which passes through the resistor.


